Pg. 308 4.3B - Right Triangle Trigonometry

Fundamental Trigonometric Identities:

Reciprocal Identities Quotient Identities

sinezL cosezL tanez—1 tanezsm8 cotez‘:?Se
csco seco coto cos0 sin0
cscOh=—— secO=—1—  coto———
sin cos 0 tan©

Pythagorean Identities

sin0+cos?0=1 1+tan’0=sec’® 1+cot’0=csc’>0O

Ex 1:

Use the trigonometric identities to transform the left side of the equation
into the right side.

a) cosOsecH=1 b) (1+sin®)(1-sin6)=cos” 6

. _ tan p + cot
C) sin®0—cos’ 0 =2sin’0-1 d) tanf+cotp

2
csc
tan 3 b



Note: Make sure Tl is in degree mode.

Ex 2:

Use a calculator to evaluate each function. Round your answers to four
decimal places.

a) tan23.5° b) cot66.5° C) cos4°50'12"

Ex 3:
Find the values of O in degrees and radians without the aid of a calculator.
a) tan0=+/3 b) seco=+2

Ex4:
Solve fory.

18 y

60° ]
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